9 by 9 Killer Sudoku

Fill in the numbers 1 to 9 in such that each number only appears once in each row, column and
dotted sub-region (cage). The sum of the numbers in a cage must equal the printed clue numbers
of a cage.
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Answers

Fill in the numbers 1 to 9 in such that each number only appears once in each row, column and
dotted sub-region (cage). The sum of the numbers in a cage must equal the printed clue numbers
of a cage.

1 18171312 /915/46
319146851712
2.6 51114713938
4 13121968157
7111653121984
915|847 112]6]|3
51413 (2/96|18]7]1
6 |7 |1 |8|5/314]2]|9
812197 1,4]16|3]|5
811121419 613 |57
913|512 |7 |86 |41
4 171613151829
2 (41163 |9(5|7]8
6 15/918 |2 |714|1]|3
38|71 |5(412]9]6
516141981732
1 12817431965
7191315621 |8|4
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